March 12, 2013

Unit 7 - Review
1. Find the area of the triangle ifa=5,b =8, and C = 81-
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2. Plot the following points:

Al32%
176
_5(—3,210")




March 12, 2013

3. Convert the polar coordinates to rectangular coordinates:
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4. Convert the rectangular coordinates to polar coordinates:
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5. Solve the Triangle if: 4 =81 B =4()° b=92
N o_g1e- Yo' = 64°
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6. Solve th%riangle iffa=3.2,b=7.6,andc =E.4 N A
A _ ¢ Ly ). —3.2 ‘kl‘l-%o
.2 ) 2 (b4

L

12—k H> NG L
X 0 C C: 0S W

LR 0= Skba)g s N2




March 12, 2013

7. Solve the Triangle if A=32,a=17,and b = 11

8. Graph the following parametric equationover () < ¢t < 4
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9. Kirby hits a ball when it 1s 4 ft above the ground
with an initial velocity of 120 ft/sec. The ball leaves

the bat at 30-angle with the horizontal. How far will

R
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10. A baseball is hit straight up from a height of 5 ft with an initial

velocity of 80 ft/sec. Its position is modeled by the parametric
equations X = f and. y=-16¢+80t+5 How long will the ball

be in the air? At what time will the ball be 60 ft in the gLir‘? 5
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11. Find the polar equation for the following rectangular equation:

(x+3)2+(y+3)2=18

X % bxi )+ Ythy (=13
\ Xﬂ\ﬂﬂ@g%\j =0
4 breoso) +lo(rsthe) =0
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: e
V= —Loso - bghe

12. Analyze the graph of 7 = 3—4s1n 6
State the domain, range, symmetry, and type of limacon.
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12. Analyze the graph of 7 = 351n 26
State the domain, range, symmetry, # of petals and length of petals




